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AR AR R, #1<650 nm £ 10 nm
7 tones or no beep

TREIEE

USB, RS232F [ 42 & 1. IBM4éxx (RS485)
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160 mm x 65 mm x 82 mm
150g
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5VDC +0.25V

675 mW (125 mA @ 5 V) - 2 i

375 mW (75 mA @5 V) - typical
Class2:52VDC @ 1 A

Class 1: [EC60825-1, EN60825-1

FCC Part 15, ICES-003, EN55022 Class B
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0°C- 40°C

-40°C - 60°C
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42°, 68°, §2°

Code 38, Code 93, Code 128, UPC/EAN/JAN, Code 2 of 5, Code 11, Codabar, MSI Plessey, GS1 DataBar,
Telepen, Trioptic
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5.2 mil 83 mm - 108 mm 4.0 mil 25 mm - 45 mm
7.5 mil 38 mm - 178 mm 5.2 mil 22 mm - 55 mm
10.4 mil 32 mm - 254 mm 7.5 mil 20 mm - 64 mm
13 mil 0 mm - 305 mm 10.4 mil 0Omm -72 mm
26 mil 12 mm - 445 mm 13 mil 0 mm - 100 mm
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*4red. 5 mil (0.127 mm)
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* 4. 3.0 mil (0.075 mm)
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